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Bridge

A reader sent this hand in which he bid
and made seven spades. North’s three-dia-
mond response to South’s strong two-bid
promised the ace of diamonds, and South
wasted no time bidding the grand slam.

It’s not easy to see how declarer made the
contract, and if you would like to test your
skill before reading on, stop right here.

Declarer ruffs the club lead in dummy,
ruffs a heart, then ruffs a club, a heart, a club
and a third heart. He next draws three
rounds of trumps to create this position:

North
[H] 8
[D] A 9 8
West
[H] K
[D] Q 10 4
East
[D] 5
[C] 8 7 6
South
[S] 3
[D] K J 6
Declarer now plays his last trump, and

West is squeezed. If he discards the king of
hearts, dummy’s eight becomes a trick, and
if he discards a diamond, declarer’s dia-
monds all become good. Either way, South
wins the remaining tricks.

At first blush, it does seem overly dra-
matic for South to trump the A-K-Q of clubs
in dummy, but if he doesn’t do this, he goes
down.

The purpose of these plays is to try to
exhaust one defender of all his hearts and
thus place the burden of guarding against
dummy’s eight of hearts on the other de-
fender. Nothing can by lost by this effort,
even though it might turn out to be a waste
of time if the hearts are divided 5-4.

 If that proves to be the case, declarer can
always fall back on a favorable diamond
division and will not be any worse off for
having given himself an extra chance to
make the contract.
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Mother Goose and Grimm • Mike Peters

Baby Blues • Rick Kirkman & Jerry Scott

This is a logic-based
number placement puz-
zle. The goal is to enter
a number, 1-9, in each
cell in which each row,
column and 3x3 region
must contain only one
instance of each nu-
meral. The solution to
today’s Sudoku puzzle
is right.

Tod the Dinosaur • Patrick Roberts
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Conceptis Sudoku by Dave Green

Difficulty Level 1/08
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